Easter
Gradient
Between
Two Points

Find the gradient
between the points
given in each
section then colour
according to the
key. Can you spot a
quick way to do it?
Dark green = 1
Light green = 2
Blue = 3

Purple = 4

Light purple = 5
Dark blue = 6
Yellow = -3
Orange = -2

White = 0

Brown = 1
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Easter
Gradient
Between

Two Points

Answers

Find the gradient
between the points
given in each
section then colour
according to the
key. Can you spot a
quick way to do it?

Dark green = 1
Light green = 2
Blue = 3

Purple = 4
Light purple = 5
Dark blue =
Yellow = -3
Orange = -2
White = 0

Brown =1
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